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Inequalities

Ciive your answers in set notation.
a Solve the mequalty 3x - 8> x+ 13.
b Solve the inequality xv* — 5x — 14 =0,

Find the set of values of x for which {(x = 1ix = 4) < 2{x = 4).

a Llse algebra to solve {(x = 1}x + 2) = 18,

b Hence, or otherwise, find the ser of values of x for which (x = 13(x + 31 = 18,
Giive your answer in set notation.

Find the set of values of x for which:

B bx—T<2x+13

b 2 - llx+5<0

20
C .'fllt::_.'l.

d hoth by =7 < 2x+ Jand 2% = 11y + 5 <)

Find the set of values of x that satisfy H? +1= ? x=0
x° ’

Find the values of & for which fx7 + 8x + 3 = () has real roots.

The equation 2x? + 4kx — 5k = (0, where & is a constant, has no real roots.

Prowve that & satisiies the inegualily —; < =

a Sketch the graphs of p =fi(x) = x? + 2x - 15 and g(x) = 6 = 2x on the same axes.

b Find the coordinales of any points of inlerseclion.

¢ Wnte down the set of values of x for which [{x) > g(x).

Find the set of values of x for which the curve with equation y = 2x* + 3x - 1515

below the line with equation y = 8 + 2x.

On a coordinate grid, shade the region that satisfies the inequalities:
r>xr+4x—12and y <4 - x°,

# On a coordinate gnid, shade the regon that satsies the inegualities

yrai<by<2x+9 y>3andx = 0.
b Work out the area of the shaded region.
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